ULTIMA OKULUS SCOPE

REERAY=27Jl rrobucT USE MANUAL

SHIBUYA

This manual contains important information to prevent accidents and product failure, as well as instructions for use of
the product. Please read it carefully before using the product, and use it safely and responsibly.

BEERVZ A7V ERPREZHCOOEERIREREHROMBEVWALELATVLET,
CHEADHIC. COVZ a7V ELLBERIADIZFEHREZTRILBHEVILES L,

Installing Lens LYX®OEF T

@ Unscrew and remove
Lens Retainer Ring
from Scope Housing.

@ Install aiming reticle by
applying a stick-on dot to
the concave side of the
scope lens (not necessary
if used with Fiber Kit).

QOLYVRCTAZIVIRAY
MeBRYy NI —)LigE
ZETITTLRRZ W,
(Z7AN—Fy 2 EEFERTS
BARFBHESHDELA) X1 %2

YAUTAF—=U %M
ULTEUANLE Y,

© Confirm that the Rubber
O-ring is placed correctly
inside Scope Housing.

BRI—TN\IIvIhs5L ORA—TNIVIVIAILS
JN—OU VT HIELWMIEIC
Ao TWBZEEMRUET,

@ Firmly screw Lens
Retainer into the Scope
Housing to finish

@ Insert lens into the Scope
Housing with the concave
side facing inward

(towards the Rubber O-ring). procedure.

O SN—OUVTILhRERL @OLYIUFAF—UrT%
SIKMAEMS LY X EZD— BILTAN. T FNIEETE
TINTIVTIEANET, TTY,

Lens
L>X

| ——
¥

— 1
Rubber O-ring
ouvy

%1 If using with the Dual-Color Dot Kit supplied with each ULTIMA OKULUS SCOPEs, please use the adhesive centering matrix to place the dot in the center of the lens.

%2 We recommend treating your equipment carefully to ensure long life.

K1 ZILTARAVINARA=TIHGBLTWST27ILAT— Ry My T =Y 2 EAOBEERNBORY MY —LBHHROTY 7L — R ESENRE W,

K2 M RFXBREZRIET BIeHIC BB R TVWRWITEIRWZE W,

Left-handed use E55DEHEE

(ERE0HRBREFROIIEALLEN)

@ Affix one of the Level Locking
Screws to the threaded hole on
the opposite side of the scope
housing and tighten about two
turns. #1

© Insert Level as shown in
illustration.

@ Remove the two Level Locking
Screws with a properly sized
Phillips head driver. Proceed to
remove the Level Vial.

OBB+RSAN—THIRIVUN) ORNEDRINDEHICYSRY

2REELTHAULRILERSL (%2 EERIFERUAHET, ¥
&7, O WM F I SEI (N IELNILE

HMOLSICHTET,

Scope is configured for right-handed use.

@ Refer to illustration for proper
orientation when attaching to
your sight of choice.

@ Place the second Level Locking
Screws in the appropriate
threaded hole, and fasten
about two turns.

@ Fasten both Level Locking
Screws evenly to finish
procedure. %2

O LHOAEICRDLIBHENDY
A MBS ET,

O LS5—ADRINICYTIRI (N %
2EERIFERUAHET,

OB Fr2RDYSRY (N %Y
FICHONIETET T, %2

%1 In case you are unable to fit the screw to the hole, please abort procedure and consult your local archery pro shop. to scope or level.

%2 Do not overtighten as it may result in damage.
K1 ZL=XRAS>TWARBRWER FEAFZHIEL SBABICSHEA LTV,
K2 MEHITERVWTLREVWIRIBOREICADET,



ULTIMA OKULUS SCOPE

RRERAY= 2 7))L probucT use MANUAL SHIBUYA

Attachment to a sight XJ—70O {7}

@ Attaching to ULTIMA @ Fit a Balance Plate in the dent of the Scope © Fasten stud using a Hex @ Fasten until attached
CPX series. Housing firmly. No.10-32x20mm Low Head Bolt Key to affix to Scope vertically to Scope
SUS Stud and 10-32 Washer as shown. Holder. Holder.
O7ILTA4XYCPXYU—X @NSFYRTL—bE2RA—TN\IIVTDERU>D O3/324 >V FHAZDRALY O RO—7RILY—ICEEIC
[CBfTF2%E. DEFLAATEYRLT 10-32%X Y (5) RV'TY FzERLTI0-32%Y (58) B s ETHMAITNIEETE
Ty —ZROARNMSANET, ZfFEHTRAIA—TRILY—IC TTY,
BELEXY,

Balance
Plate B

NFYR

Balance
Plate A

[SESHESHESHSHSHSHSHS)

‘ Other Brands fti#t 5 5m ‘

© Sights featuring a non- @ Fit a Balance Plate in the dent of Scope © Fix to scope rod holder @ Fasten until attached
threaded scope rod Housing firmly. Insert No.10-32x63.5mm Low and tighten with a 3/32" vertically to scope rod
holder ending in two Head Bolt SUS and 10-32 Washer as shown. hex key and a spanner. holder.
parallel planes 5/16" a5 e e 7 [ . ) . N . -
(7.94mm) apart. 7/7\7’|/—i\%7\3—7/\'7y/7@;zﬁkbob 3/324 VF A RDIALY 97\]—7’71'\)1/9—LL§1_\L(_
DEFULRAATEYRLT10-32RX I (R) RV T Y FERANFEFEW RO-T BT B X THEN T NI
© 5/161 > FIROA T EPR S —EROAANSANET . RILT—ICEELET . TTY.

MHH . No.10-32H 1 XD
RIDBEBRDH BT

Balance
Plate B

A2

\ 5=

N

Ea\ance/ a7

Plate A g iP
NFYR o
TL—hA

Attachement is adjustable conforming to the installation of your scope. XA—7DEyTFa Y7 IcEHLE TR ITMNBEZAETZIENTEET,
Please use by adjusting the setting with Balance Plate. NZVRTL— TR BZRELTSERLES W,

Examples of attachment EX{¢ 17
Center Ev%— Front ZOY b Back /\v¥

e e
e Ot
e e s

b
kX
b

Attachment of a sight light Y k51 QBT F

8-32" sized Sight Light can be attached in two ways (90°-45°). No.8-32% 4 XD YA~ >4~ %2 AF(90°-45°) TBF 2 Z &N TEFT,
% Sight light is not included in this product. Sight light is sold separately. XA BICHA R TANEIEENTEDFE T A
% Some sight lights are unusable with. M —ZDYA RSA MERTEANEANBDET,

= s

A oo =
- =T
W |\u\uwunumnuuuum\“
I\\mmmmuumu { .
o ‘ |U\\umummummmlﬂ\“
B oP!
4] l_L‘ :‘ 75!,-:4-_




